
 

Our proofs can and should use previous
results

Ex Thin 1.18 a b n h integers n o L 0

If a Eb Canada then ah 6k mod n

10 1 mod 3 10h 1h mod 3
Thin

1 mod 3
lo 1 9 3.3

8

tx 2,704 2 7 0 4 mod3

I 13 mod3

I 1 mod 3

2704 is not diisible by 3

1.21 come upwith often
similar devisibility artern

1.22 1.23 If n divisibleby 3 flmtksumofitd.gs
diisibkbg3

IS dJifs divisibleby3is bbeby3 then



Condensed version i

1miA natural number in base 10 is dhisible by3

i the sum of its digits is dir by3

2 thongs to prove

Axioms

Axioms There exists a set of integers

21 3 2 I o 1,2 3

with operations addition t and multiplication C

satisfying

de sur f product of two integers is another

integer

Comey at 6 b ta

a b 6a

Associating at b to at btc

ab c aLbc

Distributopery a btc abt ac



Identity elements at 0 a

a l a

Negates i For each integer a there is an

integer a such that

at C a 0

AxiomWell ordering of the
natural numbers

The natural numbers are

IN I 2,3

If S is any
non empty subset of N then

S has a smallest element

Them Every natural number is interesting

Proof If not then flee are some uninteresting
numbers Lets be the set of all uninteresting
numbers

Let n be the smallest uninteresting number
Then n is interesting because it's thesmallest
uninteresting number white is a contradiction


